logarithm. V , Vo-Daten uy=(\ - 550) / 50
logV. =(logVi;+ logLo)/2 logVl, = —0,35u)—u
logVo =logV + 0,03 logLo= —0,35U)\~Us7d

logarithm. V , Vo-Daten uy=(\ — 550) /
logV. =(logVi;+ logLg)/2 logiVl, = —0,35u)-u
logVo=logV + 0,03 logLo=—0,35u)\~Us7q

log [Vo, V , Vi, Lo] Adaptation: A, =555 log[ VoIV ,Lo/V , ] Adaptation: A, =555
1 570 570
maximum maximum
1 log(Vim)=-0,02 Iog(vm):—o,oz
Vmn=0,95
Schwelle
0.5 =002 [ VTN T T T LT T T oA
01-3 -1 1 3y, 3
500 600 700 A/nm ( 500 600 700 A/nm

540,555,570 fga70-2n
logarithm. L , Lo-Daten uy=(\ - 550) / 50 logarithm. L , L,-Daten uy=(\ — 550) / 502
logL =(logMy+log )/2logVi,=—0,35u)-u logL =(logGy+log )2 logG,=-0,35u)\-u ]2
logL, =logL + 0,08 log =-0,35u\-u ] logL, =logL + 0,08 log =-0,35u\-u ]
log [Lo, L, Mo, Adaptation: A\, =570 log[Go/L, /L, ] Adaptation: Ac =570

540,555,570

maximum maximum
log(L m)=-0,07 log(L m)=-0,07
Lm=0,83 Lm=0,83
Schwelle Schwelle
=002 [ VT """ TTTTTTRLTTTT T A

600 700 A/nm 600 700 A/nm
545,570,595 - 545,570,595
logarithm. -Daten uy=(A — 550) / 50 ithm. ©, - -Daten uy=(A — 550) / 502
log . =(log = +logMg)/2log = = —0,35\-u ] =(log - +logMg)/2log  =-0,35u)-u ]
log -, =log" + 0,35 logMq = -0,35)~Us7q =log +0,35 logMq = —0,35u)~Us7q
log[, =, ,Mo] Adaptation: A =520 /=, Mo/, ] Adaptation: A y=520

500

570
maximum S maximum
log(' m)=-0,33 1.7 s log(" m
m=0,46 &S m=0,46
Schwelle chwelle
1,=0,02 ot L t20.0
. K p
L -~
...... - * ~_e” :
-3 -1 1 3 uy
500 600 700 A/nm
470,520,570 — 470,520,570

-Daten uy=(A — 550) / 502 logarithm. ,  -Daten uy=(A — 550) / 502
log =(log +log )/2 log =-0,35\-u ]2 log  =(log +log )/2 log =-0,35u\—u ]2
log =log +0,08 log =-0,35u),-u ] =log +0,08 log =-0,35u,-u ]

log [ =10 =5 =0, Adaptation: A =470 Adaptation: A =470
ed s 3 maximum maximum
1497 SH log( m)=-0,07 i log(' m)=-0,07
o/ PN =0y "~ m=0,
/ Y SOE ) Schwelle
0,5 ‘\ s t00 BB OT----=~"="="==--
.
A ~
L -~ T
0+-3 =il
400 500 700\ /nm ( ( ( 700\ /nm

fga70-7n 445,470,495 fga70-8n 445,470,495



